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†kÖwY: Aóg      

 

cvV¨m~wP: 
 

1. welq: MwYZ (†gvU b¤̂i-100): 35+15wU K¬vm  

cÖ‡kœi aviv: 

 m„Rbkxj cÖkœ: 70 b¤^i 

11wU m„Rbkxj cÖkœ _vK‡e; 7wU cÖ‡kœi DËi w`‡Z n‡e|    107=70 

(cvwUMwYZ 3wU †_‡K 2wU, exRMwYZ 3wU †_‡K 2wU, R¨vwgwZ 3wU 

†_‡K 2wU Ges cwimsL¨vb 2wU †_‡K 1wU cÖ‡kœi DËi w`‡Z n‡e) 

eûwbe©vPwb cÖkœ: 30 b¤̂i        130=30 

cvwUMwYZ †_‡K 10wU, exRMwYZ †_‡K 10wU, R¨vwgwZ †_‡K 8wU Ges 

cwimsL¨vb †_‡K 2wU K‡i †gvU 30wU cÖkœ _vK‡e|  

1) cvwUMwYZ: Aa¨vqÑ 1g I 2q (c¨vUvb© I gybvdv) (2.1, 2.2) 

2) exRMwYZ: Aa¨vqÑ4_©(exRMwYZxq m~Îvejx I cÖ‡qvM) (4.1, 4.2,  

    4.3, 4.4) Aa¨vqÑ 5g (exRMwYZxq fMœvsk) (5.1, 5.2) 

3) R¨vwgwZ: Aa¨vq-8g (PZzfz©R) (m¤úv`¨ I Dccv`¨) 

4) cwimsL¨vb: Aa¨vq: GKv`k (Z_¨ I DcvË) 
 

 

 

2. welq: evsjv (†gvU b¤^i-100) : 35+15wU K¬vm 

cÖ‡kœi aviv I gvb e›Ub:      

m„Rbkxj I iPbvg~jK Ask: 70 b¤̂i 

 M`¨: 3wU †_‡K 2wU Ges KweZv: 3wU †_‡K 2wU K‡i †gvU 4wU  

    m„Rbkxj cÖ‡kœi DËi w`‡Z n‡e|       104=40 

 mvivsk I mvigg©: 2wU †_‡K 1wUi DËi w`‡Z n‡e|      05 b¤̂i 

 fve-m¤úªmviY: 2wU †_‡K 1wUi DËi w`‡Z n‡e|      05 b¤̂i 

 cÎ/`iLv Í̄: 2wU †_‡K 1wUi DËi w`‡Z n‡e|           05 b¤̂i 

 cÖeÜ: 3wU †_‡K 1wUi DËi w`‡Z n‡e|        15 b¤̂i 

eûwbe©vPwb Ask : 30 b¤^i        130=30 

 M`¨ †_‡K 8wU, KweZv †_‡K 8wU Ges e¨vKiY †_‡K 14wU K‡i  

    †gvU 30 eûwbe©vPwb cÖkœ _vK‡e| 
 

1) mvwnZ¨ KwYKv (eûwbe©vPbx I m„Rbkxj cÖ‡kœi Rb¨):  

    M`¨ (c„ôv 1 - 45) Ges KweZv (c„ôv 80 - 107)   

2) e¨vKiY (eûwbe©vPbx cÖ‡kœi Rb¨): c„ôv 1 - 47    

3) mvivsk: c„ôv 93, 94 (2.1, 2.3, 2.4, 2.5. 2.9, 2.10)    

4) fvem¤úªmviY: c„ôv 97-100 (3.1, 3.2, 3.3, 3.4, 3.8, 3.9)    

5) cÎ wjLb: c„ôv 102, 103, 104, 105 (K, L, M I N) 

6) cÖeÜ iPbv wjLb: 5.1, 5.4, 5.5, 5.7, 5.8  

 

3. Subj: English (†gvU b¤^i-100) : 35+15wU K¬vm 

cÖ‡kœi aviv:    

# From Seen Passage 1 (Unit 1, 2 & 3) 

    Answer the question 1, 2 

    1) MCQ(1x7=7)  2) Question(2x4=8) 

# From Seen Passage 2 (Unit 1, 2 & 3) 

    3) Gap filling (P: 498, no. 1-11) (1x5=5) 

# From Unseen Passage:  

1. P.B. Shelly, son of Baronet 

2. John Keats was not only a deeply ........ 

3. They Eiffel Tower in Paris ........ 

4. Ekushey February is .....      5. Alfred Tennyson was ..... 

6. Marcony was an talian ...... 

7. When William Shakespeare was ........ 

8. Jonathan serif was born ....... 

9. Dhaka is a very enceinte city ........ 

10. Mount Everest, which is in ........    

Answer the question 4 & 5 
 

4) Information transfer (1x5=5)  5) True-False      (1x5=5) 

6) Cloze test with clues: P- 533, 534 (No.1–15) (.5x10=5) 
7) Cloze test without clues: P-547, 548 (No. 1-20)    (1x5=5) 

8) Matching the sentences: P-554-557 (No.1-20)     (1x5=5) 

9) Suffix & prefix: P-31-42 & Exc: 1-20        (.5x10=5)  

10) Use of Articles: P- 55-60 & Exc: 1-20             (.5x10=5) 

11) Changing sentences (Affir, Neg, Intt, Excl) P: 70-75  

(1x5=5) 

12) Speech: P-90-101         (05) 

13) Punctuation: P-107-109 & Exc: 1-20   (.5x10=5) 

14) Short Dialogue: P- 573, 574 (1, 3, 4, 5, 6)     (10) 

15) Informal E-mail: P-592, 593 (No. 1, 2, 3, 5, 6, 7)   (10) 

16) Paragraph: (a) A Book Fair          (b) A Rainy Day  

   (c) A School Library  (d) Traffic Jam  

   (e) Tree plantation (10)  
 

4. welq: evsjv‡`k I wek¦cwiPq (†gvU b¤^i-100) : 21+09wU K¬vm 

    Aa¨vq: 1gÑ6ô 

cÖ‡kœi aviv I gvb e›Ub:     
 

1) m„Rbkxj cÖkœ: 70 b¤^i   (11wU cÖkœ ‡_‡K 7wUi DËi w`‡Z n‡e) 

2) eûwbe©vPbx cÖkœ: 30 b¤^i  (30wU cÖkœ _vK‡e) 

 

5. welq: weÁvb (†gvU b¤^i-100) K¬vm: 28+15  Aa¨vq: 1g Ñ 8g 

cÖ‡kœi aviv I gvb e›Ub:     
 

1) m„Rbkxj cÖkœ: 70 b¤^i   (11wU cÖkœ ‡_‡K 7wUi DËi w`‡Z n‡e) 

2) eûwbe©vPbx cÖkœ: 30 b¤^i  (30wU cÖkœ _vK‡e)  

 

6. welq: Z_¨ I †hvMv‡hvM cÖhyw³ (†gvU b¤^i-50) : 07+03wU K¬vm 

    Aa¨vq: 1g, 2q I 3q  

cÖ‡kœi aviv I gvb e›Ub:     
 

1) mswÿß cÖkœ: 25 b¤̂i (8wU cÖkœ ‡_‡K 5wUi DËi w`‡Z n‡e) 

2) eûwbe©vPbx cÖkœ: 25 b¤^i  (25wU cÖ‡kœ _vK‡e)  
 

7(K). welq: Bmvjvg ag© (†gvU b¤^i-100) : 14+06wU K¬vm 

      Aa¨vq: 1g (c„: 1-9) 2q (c„: 26-32)  

       4_© (c„: 84-90), 5g (110-116) 

cÖ‡kœi aviv I gvb e›Ub:     
 

1) m„Rbkxj cÖkœ: 70 b¤^i   (11wU cÖkœ ‡_‡K 7wUi DËi w`‡Z n‡e) 

2) eûwbe©vPbx cÖkœ: 30 b¤^i  (30wU cÖkœ _vK‡e)  

 

7(L). welq: wn›`yag© (†gvU b¤^i-100) : 14+06wU K¬vm 

     Aa¨vq: 1g, 2q I 3q 

cÖ‡kœi aviv I gvb e›Ub:     
 

1) m„Rbkxj cÖkœ: 70 b¤^i   (11wU cÖkœ ‡_‡K 7wUi DËi w`‡Z n‡e) 

2) eûwbe©vPbx cÖkœ: 30 b¤^i  (30wU cÖkœ _vK‡e)  


